-
-

E=
i
=

1 PAAYF R 1 1 | o | 1

2 19+ N5k 58.1 3|3 2

3 TAIUNIZAP |PLUETE 55.6 2 | 4 6

4 AFAIVIIA— |REA | 513 [ 4 | 2 3

E : NI 7

6 AM4339)9F |FiEXE 46.9 51| 6 4

10 REE=% WEH 443 | 7 | 7 10
SHIF=hI EH &k 43.6 9 | 8
I43>a3Yy |[RHEC 8 | 10
1—%55 IMRSC 10| 9

9 ¥100 Hif 1-4-9 ¥500

4 4-9 ¥530 E 9-4-1 ¥1,760




1 PIUFA HKIEA i 1
Al 6 k)il N 2 | 4 6
3 | 1 |73vINN =P 571 < 2
4 HAALAMEX  LOE 51.2 6 | 2 5
5 U7 A4 NSk 50.3 4 | 3 9
6 75927737 — HPEA 47.5 7 | 6 3
7 NIWFPX=) REHZE 46.8 51| 9 8
8 Jo—-U—-oO—F |hIiEmH 44.6 8 | 7 4
9 477107 [FIEE 444 | 9 |10 10
10 FoF5FY Bz 8 11
11 [0 XLhFA I 11 7
Ih=&
9 ¥340 QeI 1-8-9 ¥1,550
1-9 ¥850 [e3:d:: 9-1-8 ¥4,790




-
w

[
1l

Fr—FIIFY—0 [lLOE 1 | 1| 0| 4
739—-h>oR_— LHES 61.7 . 1
hAVFI-IE | INERE 58.6 3| 4 5
B> )78 TS 49.6 4 | 5 2
U0 JREYFIP- |HUKIBA | 49.0 | 5 | 3 9
I 458 | 6 | 6 3

e IS —FTHA4Y  |[IMALZ 42.7 7|9 6
YE¥I)O0HF | R 40.6 8 | 7 7
Ea—=l4 H R 9 | 8 8

5 ¥330 E 1-2-5 ¥5,010
2-5 ¥1,270 E 5-2-1 ¥15,930




1/5(H) #&4R [RPTS8)

=4 BFE& | BBERM | C | = |OR | BE
1 BIE | 1|1
N 2 NUIN HbEA | 58.0 | 2 | 4 3
3 JI—AAFTY—0O|lLO% 55.5 3 3 4
4 7—IL 7N B 53.3 4 2 1
5 BNy L—9Y  (WAKEA | 49.7 | 9 | 8 8
6 EIFON-Y>T | INERH 48.1 5|5 5
7 ERNYS3XI5T— |NISHk 46.2 7 |9 10
8 AAT4>b INRE 45.3 8 | 11
9 h3)IF ) |HPHE 44.5 6 | 7
10 ﬂz'j‘ﬂb;b— SIS | 39.3 | 10 | 10 11
11 | VXA &gl _ 11| 6 7
Ih=m®
- 1 ¥420 [E3Z 1-2-8 ¥290
4 1-8 ¥210 c 1-8-2 ¥1,420




.

i

1 | 5 A—YATYI-X|ISHk 1 |1 2
2 NIFAPSAR  |(WLO# 64.5 i 1
3 | 1 |[F7AAJIA M]::E9= 53.5 3| 3 5
4 TLZZLBAOF |ArE® 53.4 4 | 9 3
5 ObJ7{4 45— BIE 50.0 5| 4 4
6 MURT1—) |REZE: 49.6 8 | 5 11
7 HTWIN-A7— KA 48.1 6 | 11
8 J—A—-NY¥I1A | TFiEXE 45.5 9 | 6
9 | 6 /X197 BIES 45.1 7 | 10 12
N—LE—F HPEA 449 | 10| 8 10
L keTb-5  |hoEmE | 40.0 | 11 | 12
Bz TS _ 12 | 7
12 ¥370 e3:L: 5-8-12 ¥3,240
5-12 ¥aa0 T  12-5-8 ¥11,720




Y #226R [RF
Z = 7 == ] S
1 | L FTIINHA4AY |LLO2 1 2 | © 1
2 EIFE—F BINES | 672.2 | 2 |1 5
3 5 [PZNIFUIN |REHZ: B2 T 3| 3 2
4 5J7I—L BIE 47.2 | 5 | 4 3
5 | 1 |Z1—-K/3M4Y> |FigKHE 46.0 4 | 8 7
6 S ARTYRASFLY |HPRE 45.9 10| 6 4
7 L TVARIVS T | RIIBY 45.2 | 6 | 7 10
8 A RIVA SFES 43.1 8 | 5
o TALIAYYNEY [RLUETE 43.0 7 | 9
10 FoENA-Y  |mEE |40 9 | 10
Ihim&
1Y 10 ¥220 Q3T 3-5-10 ¥490

5-10 ¥280 33EH 10-5-3 ¥1,630




=pIR’A=VA PT1C
z - i = -2
1 | 5 [EORS— REZ 1 |1 2
2 | Ll ZRIVAFAX | BINE 65.4 | 2 | 2 1
< ARIS> A1 54.1 3| 3 4
4 h3JI—F1V— HBHPH 53.2 4 | 6 7
5 EUFR—45— | 46.2 5| 5 3
6 ATy | IISHh 44.5 7 | 4 8
7 LR BYINA KA 44,5 | 9 | 8 10
Eﬂ IIITU—A INEIEE 43.1 6 | 9 6
9 TN\ &) 8 | 10
10 IN—-893] | RHEC 10 | 7 9
A=
9 ¥210 E 4-5-9 ¥880
E 5-9 ¥220 E 9-5-4 ¥2,840




= TESH - §
I = = i E= [ S
1 | S IL)7P5y | BINE i 1
2 hhhIF—) | IMKE 62.1 2 | 2 2
3 W TEFPUD awiE 57.0 3| 3 10
4 NIFAI4>9— lLOE 53.4 5|5 6
5 | 5 |[FINYSYYH— |ILHEE 47.1 6 | 4 s
6 339FVEISR | IR 46.8 4 | 6 7
IJLE—MT RES} | 437 | 9 | 9 8
8 | : | IL9IFU” MRS 42.6 7 | 7 =
9 | 1 |PAFIANAA 8 | 8 4
10 L0 JL—RIYT VA 10 | 10 9
A=
EH RS 6 ¥160 [e3:L: 6-8-9 ¥2,780
1 68 ¥280 [} 6-8-9 ¥6,060




]

]
)
E=
i

FU—LAY>7— |[REHZ: 1 1 | o | 2
rS1—-5 A= 61.9 3| 2 1

112 IS ENT: 582 | 2 | 5 6
DS IARAR PUET 50.7 6 | 4 5

A PITINE=) HPREA 49,2 4 | 3 3
| 6 [\FAFURL  (EEAE | 481 | 5 | 9 9
S JINFFY-0 |(ILAEE 45.1 9 | 10 7
URIAEUYE | EHSEE 44.8 7 4

SR DA XAT L= | TSR 43.7 8 10
3 ElwliVea N5k 42.3 | 10 8
> UCACECANNY- /. 11 12
BLALAFIT | 12 11
¥430 QLS 4-5-10 ¥880

¥200 33 EH 10-5-4 ¥6,320




|

|
L
=]
1}
—

S &3 BIE 1| 1|0 3
I54A-NT4 X | REE:} 57.9 S 2
HIDhAR 58 K5 52.0 2 | 4 4
J—"J) HkiaA 50.7 4 | 5 8
A—IN—J14AN\N— HPEA 46.6 6 | 8 6
SAYATIYY1 8 | 6 7
33—-1-% 5| 3 1
Flr—S5p——— 9 | 7 5
8 b, 7|09 9
2 ¥590 [Ee3:L: 1-2-9 ¥510

2-9 ¥1,430 33EHE 2-9-1 ¥6,180




—
v
-
w

EE4Z ESTF42 3BiISH == ¥ E

1 | & |E-E-FE/O0-7 |EKEA 1 |1 3
2 17> N5k 62.9 2 | 2 4
3 AXANIALAL |BIIES 508 | 3 | 4 1
4 AJNFHI7EX HPEA 57.2 4 | 3 2
5 Ab—LY—3 II[mE2) 51.4 51| 5 5
6 H4F I h LA )%y 45.6 | 10| 6 6
7 4 SAF7NTIS7 | RIURS 44.3 7 | 10 9
8 NUJRHYA | BEAE | 439 | 6 8
o | | Savs—yR— | R 41.8 9 7
10 EYIF7v> MEE 414 | 8 | 9 11
11 Lo ROovan—  |ivkiE _ 11 | 11 10

=&
2 ¥560 [e3:L: 2-6-9 ¥960

2-9 ¥1,000 33EHE 2-9-6 ¥6,990




g
w

Il
T

1 WIRLITARA |[HKEA o 2
2 YU JikU— = mAE 62.7 1 | 3 3
3 L74RbO HPEA 576 | 3 | 4 5
4 A ZAN—HUIYY MRS 56.8 4 | 1 1
5 bIV1IA— 1I]::E5= 50.5 6 | 6 10
6 | 5 |TAVIVAF(L |REZE: 49.6 5 | B
7 DU Fv—EZ0A  (DIRMHE | 457 | 7 | 7
AN—hPU7 | RIURES 42.2 | 8 | 8
NENY—Dh Be) 7Y 41.0 9 |10 11
T71Fv At 9.5 11
BV IAF— | EWiEd 5
6 3iEE 4-6-7 ¥370
4-6 3R 6-4-7 ¥1,940




